ИРРАЦИОНАЛЬНЫЕ  УРАВНЕНИЯ.
Вариант 1.
1. Решить уравнение:

а) [image: image2.png]Vx+1



 = 3;              б) х = [image: image4.png]VX + 11



 + 1;      в) [image: image6.png]VX +3



 = [image: image8.png]


;    
  г) [image: image10.png]x—1



 = х – 3;      д)[image: image12.png]


 = [image: image14.png]1

2x



.
ИРРАЦИОНАЛЬНЫЕ  УРАВНЕНИЯ.

Вариант 2.
1. Решить уравнение:

а) [image: image16.png]


 = 2;              б) х – [image: image18.png]


 =10;      в) [image: image20.png]V3x +1



 = [image: image22.png]


;    

  г) [image: image24.png]V3x +1



 = х – 1;      д)[image: image26.png]


 = [image: image28.png]6

3x



.
ИРРАЦИОНАЛЬНЫЕ  УРАВНЕНИЯ.

Вариант 3.
1. Решить уравнение:

а) [image: image30.png]V2x+3



 = 1;              б) х = [image: image32.png]4

2x



 + 2;      в) [image: image34.png]V2x +3



 = [image: image36.png]1+x



;    

  г) [image: image38.png]


 = х – 9;      д)[image: image40.png]


 = [image: image42.png]1-x



.
ИРРАЦИОНАЛЬНЫЕ  УРАВНЕНИЯ.

Вариант 4.
1. Решить уравнение:

а) [image: image44.png]


 = 5;              б) х = [image: image46.png]


 + 9;      в) [image: image48.png]2x—5



 = [image: image50.png]V5x + 4



;    

  г) [image: image52.png]VX + 2



 = 3х – 4;      д) [image: image54.png]


 = х + 4
